EARAROBREBRT —5 XN—ZXBISH—F

202268128 (B) 6EER3H

L MS>%—f C210 B
[AXE%€]) 1%&:350,000H ~ 2&:112,000H  3#%&:5,000M / 4%&:42,000H  53&:35,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
P 3 11— 9| - JII78E8L (£5R)
gl 7 | 7oug B4 e 1(3_2)3 1-1-1-1 | 39.9 1 3513) ey
RIVZIRI—ZZRI— BTFITRANT—R HNIFNT7—Ls
== BEEsha 132, -2-2- . - HiE—th (&R
20111 v =3I 780 1(332)9 e ’ (4+781) BRE
RiZRIAVA—S B:AHATzU—Fz BRAt B)IHBUS
= 4t 6 | FHEELE 1:33.4 4-3-3-3 | 40.1| - 4 | 465 |BEAZ (ER)
3|5/5|¥7A1A 5.0 @172 @) | AFIZE
R:IvRAI99TA B:7IUR BRI
S At~y = EHIE - - =
J3—J T UFY AN B Che 1(.13/32.)5 6-5-6-5 | 39.6 5 (4+613; ggg &R
RiUVh—Y B:I—=FTAVFY ER Lk
S, L Ny FEIRAT : -5-5- - BRME (&R
SEILR—A Ho4 FEAR 1.(323).9 5-5-5-6 | 40.0 3 (4_515) /]E\J—r,é
RVEWYF— BFUIFA A4S
= o FHAKR— :34. -7-7- . - SH—R (&R
=Y S hHAH— 10 B (12314/5 6-7-7-7 | 40.1 7 (4_73 i
RIN=YITSA B:IA—VIT T« RS
ne EHIBAR : -3-4- - EHEX (&R)
RY<)Ld o4 | B4 1.(314%.6 2-3-4-4 | 41.4 6 (4+519) g(ﬁi;‘j; R vay
R:RITT14 BIAYVRY ERR B—
@ 1—F—&RIEL
13—7F— 7,(1,3),5,6, (2,4)
20—3F— 7.1,(3.5),(2,6) ,4
30—7F— 7,1,5,3,6,2,4
43—F— 7,1,5,3.2,6.,4
o ILRE
BB 7 1MOH | | 94K 1-7 1004 B & 1-7 180 3EE 1-5-7 4804
B B 7 100/ 5-7 310 =51 7-1 3004 3EH 7-1-5 910M
1 110 1-5 4704

ABIC OV TRUTEREERRODDZE. THRIIZEL.




